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140354 | mM3d | AFS|QF7HK| D 7[2:7HK| 2 O[5 Sp =LY 7t A= AL 2] 2 2 0

141564 | WM | AL F7HK]| O/t 2 2 =M 40[0F7| 2 2 0

140244 | DM 7 | AF2[QF7HK] MAZOH | =40 dnpAl Y 2 2 0

140195 | M TZE | AL F7HK]| HELEHR=3F0FX 2 2 0

140266 | WM | A2 2F7HK| AT XQIAR| 2 2 0

140242 | mMTdd | A2 Qb7HK| LIt O 7} AH 2| L M| SEHLHE 2 2 0

140303 | M3 | A2 2F7HK| IS K| st 2| 2 2 0

140388 | WM TZH | AL2|QF7HK| eI HO| &7t 2 2 0

140415 | n M3 | A2 2F7HK| F3ZIeHY 3 3 0

140021 | M2 | A2 F7HK]| stEapA et 2 2 0

140132 | m M Zd | A2 Qb7HK| o= 0| QFAL 2 2 0

140107 | mMTE | AL2| 247K oI L AL 240| | Of 2 2 0

140290 | WM& | AL2|QF7HK| CICHALR| F H Z 2 2 0

140343 | u M@ | XA | = A =hteto 3 3 0 |OCUZZt
140380 | uMTY | XA |= CIZtI2E 3 3 0 |OCUZZt
140360 | W MTZH | XA |= HEAR| LAY 3 3 0 |Zt=styt oI5 mit=
140148 | MY | XtSiat7|= AXFA S Ht0| 2f AL 2 2 0

140396 | W MTZH | XA |= AlO| A s=5t-2 E T} 2 2 0

140232 | u M7 | XA | = PythonZ 2 27| = 2 2 0

140134 | U M7 | XA |= AzatS 7t 2 2 0

140249 | UM 7 | XA | & SUATQ02E AR, EA| 2 2 0

140254 | W M7 | XA | = S M ZEOf| M AL FK] 2 2 0

140158 | u M 7Y | At | & el E=—n] N el P =l 2 2 0

140137 | WM™ | XA |= 0}k | = 0pX AL XY A 2 2 0

140139 | uMTZY | AHAD7|= otet7| &S A 5 L A o M 2 2 0

140159 | U MTZH | XA |= DFSEAL 2 2 0

140152 | u MY | XA | = =25t 2 2 0

140156 | WM™ | XA |= STAH e | = 2 2 0

140256 | nM7H | A= =1ty 2 2 0
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140351 | M7 | MAHLIES} Advanced Korean Communication Skills 2 2 0 (=2l Ciad
140348 | MY | bAH 2%} Basic Korean : Reading & Writing 2 2 0 [=0Qlrstd iy
140325 | a7 | HALpES) Korean TOPIK 1I-2 2 2 0 |2A=olFetd Cfd
145607 | WM ZH | HALgAE=t ot 0{4 2 2 0 |2A=0lFstd ofd
141512 | n M2 | MALE St K-popit 423} 2 2 0
140299 | UM ZH | MALgtE=t W Y= F O ST |1 2 2 0
140301 | nMZd | MA LSt WA= AH O] Q7|1 2 2 0
140375 | uMZH | A LgtE=t = K| At=| 0| OF 7| 2 2 0
140200 | n M2 | MALESt = K| 2 F 01 2 2 0
140203 | WM ZH | MALgAE=t = EHO|FRAA| AL A] 2 2 0
140204 | n M Zd | MAHESt H5 S YutsHe & 2 2 0
140364 | WM ZH | HALgAE=t =011 2 2 0
140164 | mMZd | MA LSt S22t 0|sf 2 2 0
140397 | WM ZH | A LgtE=t =Ho|FZ =R} 2 2 0
140391 | n Mg | MA =St O] =AF2|0|OF7| 2 2 0
140198 | WM ZH | MALgtE=t H| E =011 2 2 0
140289 | w Mg | MA =St oA 22 22| O ol 2 2 0
140362 | WM ZH | MALgAE=t =011 2 2 0
140162 | n M2 | MALESt M A 22 EFALO R 2 2 0
140179 | UM ZH | A LgtE=t Al Rl = 2 2 0
140269 | m M e | MA St HIAZE . 2HO|HEQIHME 2 2 0
140267 | WM ZH | MALgAE=t G ElALR| Q| ZFX| K| gk CHY Y, 28, S & 2 2 0
140404 | n M2 | MA LSt = 2 22tALZ] 2 2 0
140020 | WM ZH | HALgtE=t d0|Esfafi 5 2 2 0
140211 | M TH | MALES} Fo{H=7t2[ 0|3 2 2 0
140280 | WM ZH | MALgtE=t T HAR| 2} 3 3 0
140366 | DMZH | MAHpEst 201 2 2 0
140271 | uMZH | A LgAE=t o ZH|E 40 Y| 2 2 0
140368 | M e | MA =St =011 2 2 0




140412 | n M Zd | MAHESt X% 7t LT (SDGs) 2| O] 5 3 3 0
141313 | WM 7H | HALgAE=t E=599 2 2 0
140263 | n M2 | MALESt XM A 2| 2 2F 2 2 0
140212 | a7 | HALpES) ot ALR| Q|Ct 225 & 2 2 0




